time ) Distant -1

Q1. 9f aboy wolks at a Speed of 12km/hY, he dekes Jomin v reach
School. 9f he hat to rfeach Sthuel in 1§ min, +hen With Whod §pecd

he Showld wal kK -

&) 14 kmrhe ) ISkhY QA D) rikm(by \=—=m

H'______-gs D)= Dz d= distante
: : ¢ S5 veleudy/Sg
D, ngu\h aomm S,%“'\- S;% i ’
¥

9 ¢ Ismit 3 ke x20

D/Wvll-—- D -F .
o™ o BT g e ki fiz 20miT 4>% RS
TG e 1ty ISmiv 4 law e =
2 E5 [% ik

(©all



22. A man wedling ot a rote of Skm/hY Crosses o ':m’dae N 1§ minude

the Jengthof the Am‘olaecir\ metey) 15
0)600 b) 300 €) D00 d) 1250 . "“1”,“ N,(

L e it 2
& Drot ¢ $lm’m:6wc

Chmhy  1SMin
D 02 Skm/hvx|Smiv

;5‘xsmx|s$6u‘{

X

» {:&fﬂf’%

4%




